ZavéreCny test: Koncepty a principy behaviordlni analyzy

This is the defining characteristic of applied behavior analysis that demonstrates experimental
control over the occurrence and non-occurrence of the behavior.
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* Analytic

Applied

Experimentation

This is the defining characteristic of behavior analysis that focuses on investigating socially
signi \ant behaviors with immediate importance to the participant(s).
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Thif ie )1\ appr.o/ ¢k tg understanding behavior that assumes that a mental or "inner"
dimension /\msts the? differs from a behavioral dimension and that phenomena in this
dimension J{y\*r direcJ» cause or at least mediate some forms of behavior.
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This is the idea that simple, logical explanaL y Must ‘é/ {ed out, experimentally or
conceptually, before more complex or abstract’e \LanatloAls y\;onmdered
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The controlling variables of primary importance in applied behavior analysis are located in:

*The environment
Consequences



The mental state/ :/\
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Two functionally dlStlnCt t? s of behavior important to behavior analysis include:

Learned and opex’/u/J av10g//
Reflexive and responue ehavw/ >
*Respondent and operanl/‘i “havior /

Operant and conditioned beb=yior N
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A denotes a set or collectian/ ?\kngwle/\ and skills a person has learned that are
relevant to particular settings or tasks / Y %)
*Repretorire o N ‘//\ .
Behavior - / <4 N
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Behavior is affected by stimulus changes that occur @r to and ynedlately after the
behavior. The term refers to environmental Cond/@m or sumuylys changes that exist or
occur prior to the behavior of interest. - - \
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A behavior that is elicited by antecedent stimuli and is "brought about" KN /sf\rnulu\;bﬁt
precedes it is: N -
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Learned ~ ; VN
*Respondent - Y
New Y

A response is followed by a stimulus change, the effect of which is an increase in the future
frequency of behavior. Which type of stimulus-change operation most likely occurred?
*Reinforcement

Punishment

Extinction

Positive punishment

Water is an example of a reinforcer, while money is an example of a
reinforcer.

Conditioned, unconditioned

Secondary, primary

*Unconditioned, conditioned

Powerful, ineffective



Answering the door when you hear the door bell and not when it is silent is an example of
behavior being under:

Simultaneous prompting
Equivalence

*Stimulus control
Premack principle

A behavior%s> occurs more frequently under some antecedent conditions than it does in
others is calie(’/‘};\n :
Stimulus control
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Food deprivation py, alter ﬁe}%@mentary effectiveness of food as a reinforcer. Food
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The three-term contingency is madef\?)?ese tu%}i-%rms:
Attitude, behavior, reinforcement - ‘D A
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Conditioned are the product of respondent conditioning.

Antecedents
Stimuli
Punishers
*Reflexes

A teacher wants to deliver a sticker to Johnny every time he says “Please.” This would be
considered positive reinforcement if:
*The behavior of saying "Please" increases over time



The behavior of saying "Please" decreases over time
The behavior of saying "Please" does not change over time
The behavior of sticker giving decreases over time

An example of unconditioned reinforcer(s) is:
Food

Water

Oxygen

Warmth

*All of these

A neutra¥;0 \nulus can be made into a reinforcer by:
*Pairing it )V*th an unconditioned stimulus

Pairing it WM)/\Q unconditioned response

Presenting it 11{ﬂually after a response multiple times
A neutral stimules 2annot be utilized as a reinforcer

Heathert’{o/ SA phon/ (1 &then picks up the phone. Her husband talks with her over the
phone. Whatis behaV’fn in this three-term contingency?

Husband talkmg/ > /)

*Heather picks up t“&phone M.

Phone ringing - . o
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An example of motivation op;‘// tion is: () N
Hunger //\ .
Hay fever - / - <N
Argument with significant others < o oS
*All of these TN /_\
None of these A° q4N
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Stimulus preference assessment refers to a vari“.yp of procediises to determine:
The stimulus a person prefers "7‘/\ - //\ R
The relative preference values of those stimuli " A %
The conditions under which those preference values 1}/ /d,\/\ N

*All of these ~ ™
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What information does a concurrent schedule reinforcer asse‘éﬂe){t prows e
A rank order of preference for a variety of stimuli. > A -

How often children will select one stimulus versus another to indit dtf\l@efereu
*Whether or not a stimulus functions as a reinforcer and how effeCtive that sthnmgf sasa
reinforcer compared to other stimuli -
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All of these - N
None of these 14

When two or more contingencies of reinforcement operate independently and
simultaneously for two or more behaviors, what schedule of reinforcement is in effect?
Multiple

Mixed



Progressive-ratio
*Concurrent
None of these

Which schedule reinforcer assessment consists of two or more component schedules of
reinforcement for a single response with only one component schedule in effect at any given
time?
Pr\(y“\)&sive—ratio

N’
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The pr‘/ se 'tutlon of 4 potential reinforcer on a fixed or variable schedule independent of the
occurrence/y\the tar{\Jehawor is also referred to as

Contingent rem@ement, 0
*Noncontingent<c Nforcem/ Gt
COntingent pu A_,ﬂr/cu\t % N
Noncontingent pumisl.ment, O;\
None of these /\ \/ -
Every time Baxter raised hlS’b/ d in cla o, Mrs. Tulley called on him. What schedule of
reinforcement is Baxter's hand/ a@ng oY —
Intermittent reinforcement N
ljlxed—.mterval ‘ />_\ {/\\
Continuous reinforcement %
Fixed-ratio 2 / ® o
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Timmy has just recently begun clearing his plate aftere finisn@\.is meal. Timmy's mother
really likes this new behavior and would like to see moreaf it. Wb:/;\ schedule of
reinforcement should Timmy's mother use to strengthean nﬂmy s ney”eehavior of clearing

—

his plate? “_/ - ‘/\? N
Variable-ratio 8 o /\\ o)
Intermittent reinforcement ) o U / A
Fixed-ratio 10 o)A oS

*Continuous reinforcement

Which schedule of reinforcement occurs when two or more contingencies of reinforcement
operate independently and simultaneously for two or more behaviors?

Variable-ratio schedules of reinforcement

*Concurrent schedules of reinforcement

Fixed-interval schedules of reinforcement

Multiple schedules of reinforcement
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Which s&“:ﬁdule of reinforcement produces a post-reinforcement pause?
*Fixed ra,lgy\qhedule of reinforcement
Continuous=< cinforcement schedule
Tandem schedule-of reinforcement
Varlayo\lnterva}schqdule of reinforcement

S

To graduaﬂ /*Q'Ciuce &)ﬂg‘l -frequency behavior, which schedule of reinforcement is the most
appropriate?’ > _/
Differential remf/,me\ment of /tigh rates of responding
*Differential reinfe’c ent 0[)3\)\( rates of responding
Fixed-ratio schedul’5 . reinfor¢zrlent
Concurrent schedules-of » \qurcerz/} g
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Schedule thinning refers tor N t//‘

Gradually decreasing the respmy/ ratio or € duration of the time interval

Quickly increasing the response 11t 0r the. ¢/t wation of the time interval

*Gradually increasing the response ™~ atv\> or the dy/ a{lon of the time interval

Moving gradually from an intermittent s /d\edule tu a4 jqntmuous reinforcement schedule.
A
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Common behavioral characteristics associat<a’ ~with /\_, include avoidance, aggression,

and unpredictable pauses in responding. >N \'/
*Ratio strain A
Post-reinforcement pause // /\/\ /
Scallop effect . , /\
Fixed interval > A _/\

P 7N
A mand is a type of verbal operant in which a speaker: > / )
Differentially responds to the verbal behavior of others Ao 7\
Repeats the verbal behavior of another speaker /’\ K
Names things and actions that the speaker has direct contact with thmu'\‘l\any of t} csense
modes ~
*Asks for (or states, demands, implies, etc.) what he or she needs or wants 7

An intraverbal response is a type of verbal operant in which a speaker:

*Differentially responds to the verbal behavior of others

Asks for (or states, demands, implies, etc.) what he needs or wants

Repeats the verbal behavior of another speaker

Names things and actions that the speaker has direct contact with through any of the sense
modes

A tact is a type of verbal operant in which a speaker:

Differentially responds to the verbal behavior of others

Asks for (or states, demands, implies, etc.) what he needs or wants

Repeats the verbal behavior of another speaker

*Names things and actions that the speaker has direct contact with through any of the sense
modes
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A textual op/ L7
Point-to-point <<t i&spondence but not formal similarity
*Point-to-point c( rr vspondence and formal similarity
No pomf); p01nt c )%ooondence and no formal similarity
None of the o~ 0 /\
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Transcription cor%jsts of < .
A discriminative s. ly\lus evck /d*"y a verbal response that does not have point-to-point
correspondence / ) - //\
Reading without any 1n1p1 cations ul?’*]?\% reader understands what is being read.
*Writing and spelling words/7\t are T t);>’<«—’:n
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Saying ,,Thank you* after listener o ens the cay ﬁoors for you:
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I say ,,motivationg operation*, John types to his cor{g}‘t% estalg)/un{g operation®.
Tact
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The functional properties of language involve: o)A o/

*Causes of the verbal response ~
Topography of the verbal response
Language properties do not have functional components.
Unobservable psychic antecedents.

The functional properties of language involve:

*Causes of the verbal response

Topography of the verbal response

Language properties do not have functional components.
Unobservable psychic antecedents.

I say ,,please, open the dore* when I hold something. It is a:
Tact

*Mand

Duplic

Codic

Intraverbal response

Receptive reaction
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I say ,,D-tan* in response to the question ,,What is your name?* It is a:
Tact N

Mand g e\
*Intraverbal res~gnse

Receptirs reaction
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Jane says ,,tennis*f?wl John w/ }s down ,,tennis®. It is a:
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David copies dance steps after his teache’ ./t '{s a T
Mand EPA ~Or
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I hope someone will see my note ,,SOS* in huge letters on the Uea H: 1t is

Tact ¢ /’\\ : ‘//"C\
*Mand ~ M ;,///\
Duplic - o)
Codic >

Intraverbal response
Receptive reaction

When a group of stimuli all evoke the same response (for example, when one sees a picture of
a Border collie, a Doberman pinscher, and a Labrador retriever, one says "that's a dog"), the
group of stimuli is referred to as:

Response class

*Stimulus class

Arbitrary class

None of these

Motivating operations and discriminative stimuli:
*Have similar evocative effects on behaviour
Are considered synonymous



Occu{ after the behavior of interest
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Amandz, advpically developing two-year-old girl, has a father who is in the Marines. The last
time her fatk3 was home, he was in uniform. Now, every time she sees a man in uniform, she
;&}}%\'{Daddy‘! " This is an example of:
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